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) INSTRUCTIONS

1. Answer afl questions.

2. All questions carry equal marks.

3. Only one answer is 1o. be given for each question.

4. If more than onc answers are marked, it would be treated as wrong answer,

5. Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken only one

circle or bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN.
6. 1/3 part of the mark(s) of each question will be deducted for each wrong ‘answer. (A wrong answer
means an incorreet answer or more than onc answers for any guestion. Leaving all the relevant circles
or bubbles of any question Blank will not be considered as wrong answer.}. '
= The candidate should ensure that Serics Code of the Question Paper Booklet and Answer Sheet must be
same after opening the envelopes. In case they are differcnt, a candidate must obtain another Question

Paper of the same series. Candidate himself shall be responsible for ensuring ths. -

8. Mobile Phone or any other electronic gadget in the examination hall is strictly prohibited. A candidate
found with any of such objcctionable material with him/her will be strictly dealt as per rules.

9. Please cotrectly fill your Roll Number in O.MR. Shest. 5 marks will be deducted for filling wrong or
incomplete Roll Number, ’ '

Warning : If a candidate is found copying or if any unauthorised material s found in histher possession,
FLR. would be jodged against him/her in the Police Station and he/she would liable to be
prosecuted wicder Seetien 3 of the RPE. (Prevention ef Unfairmeans) Act, 1992, Commission
may also debar mmiher permanently from all future examinations of the Commission.
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In the following questions find out the alternativ® which will replace the
question-mark :

frafafag 9t $ W e @ A TR @ WRWE W O®F
i | PEACOCK : INDIA :: BEAR : ?
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- (1) Auvstralia (2) America
-(3) Russia ' (4) England
/T L 1EC R 1 G
(1) sreder @) emfk
3) w ) I
2 4:18 26 :7
1 32 {2) 38
3) 11 “4) 37
4 ;18 6 :7
1 32 @) 38
(3) 11 4) 37

3 2, 11, 47, 191, 767, ?

(1) 2891 (2) 3068
(3) 3058 (4) 9451
2, 11, 47, 191, 767, ?

(1) 2891 : (2) 3068
(3) 3058 (4) 9451

4 7121928 39, ?

(1 52 @) 50
3) 51 : 4) 48
7,12,19,28, 39, ? |

1 52 2) 50
(3) 51 (4) 48

8 PAW : CAT :: HOOF : ?

(1Y Lamb (2) Elephant
(3) Lion {4) Horse
e : fewelt cocogro: ? ‘

(1) (@) weh

(@) & @ = |
indiresult.in whatsapp - 9352018749
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() XYZ (2) BCA
() YZX (4) ZXY
ABC : ZYX :: CBA : 7 _

(1) XYZ '(2) BCA
(3) YZX 4) ZXY

7 7, 26, 65, 124, 203, ?

(1) 305 2) 295
(3) 342 - @ 302
7, 26, 65, 124, 203, ?

(1) 305 ' (2) 295
(3) 342 (4) 302

8 B D GKUPE?

1) U Q@ W
3 T " (4) None of these
B,D GK P ? '
n u. Q) W
@ T @) T 4 wg A8
9 If KEDGY is coded as EKDYG then how will LIGHT be coded ?
(1) ILHTG (2) ILGHT
(3) LGTH - (4) THGIL

uﬁKEDGYa%EKDYG%mﬁWﬁwm%aLIGHTa%
Y geag fFr smm 7

(1) ILHTG (2) ILGHT

(3) ILGTH (4) THGIL

10 Seema says, "Vivek's grand father is the only son of my father." How 1S
Seema related to Vivek ?

- (1) Daughter (2) Sister
(3) Grand Mother (4) None of these
fm 3 wE e F Teet W R % sweR R ¥ 9 w1 e
¥ R oEEY Y7 indiresult.in whatsapp - 9352018749
O T | @ ¥
@) =& @ T § B TE
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Study the following table and answer the questlo/ 12" given below": " "
R R oAeh B ) AR R R woaw 1112asrmerm

Classification of 100 students based on the marks obtained by them in Physics
and Chemistry in an Examination.

%ﬂﬁmanﬁr@wsnﬂﬁmmﬂsmmwmowamw

Marks out of 50 _

Subject 40and 30and 20and 10and Oand

above above above above above
Physics 9 32 80 92 100
Chemistry (4 . 21 66 81 100
Average 7 27 73 87 100
(Aggregate) |

50 smiwd
fowm 40 it 30 ol 204 106k Oalw
oftres . ot st ot oftm

Afmymer 9 32 80 92 100
TSR 4 21 66 81 100
ol (pw a) | 7 27 73 87 100

11 What is the difference between the number of students passed with 30
as cut-off marks in Chemistry and those passed with 30 as cut-off marks
in aggregate 7 :
1y 3 2) 4
(3) 5 . 4 6 _
W B, WA ¥ 30 siH-sr ¥ @Y Sdd gu ¥ el s osm 30
w%wtﬂﬂ—m%maaﬁv‘i@q% aa‘q"ﬁrww% ?

(1 3 @) 4
(3) 5 4) 6

12 The percentage of number of students getting at least 60% marks in
chemistry are those getting at least 40% marks in aggregate, is approx:lmately
1) 21% (2) 27%
(3) 29% 4 31%
O ¥ F9-8-%1 60% 3% WG B ar B8R % WReT w b
5 qui 9 F W 40% o By ¥ ¢
1) 21% 2) 27%

(B 29% 4) 31%.

(-‘{* mpﬁlul:c{cl::§g!a1:g 4indiresult.in whatsapp - 935[28335(::3



indiresult.in whatsapp - 9352018749 (’?/, INDIRESULTE

RRRRRRRRRRRRRRRRRR

13 How many 6's are there in the following number series whxch are either

14

15

preceded by 4 or followed by 7 ?

31296476467297644609
1 1 : @ 2
3 3 4) 4

Iy & T o A AEen ﬁ6ﬂ;ﬁﬁaﬁw%f\%ﬁ%u€%4ﬁm
m%m?wm%w% ?

312906476467 297644609
1 1 @ 2
@) 3 | @ 4

Which of the following diagrams indicates the best relation between
Travelers, Train and Bus ?

(1)@0 ’ (2OO

¢ QO @) .

foq & @ P oka o, @ T T A A www dow ¥ 7
- OO

B O @

® Q0D @ .

Which of the following diagram indicates the best relation between Piegen,
Bird and Dog ?

o @O' . @ O O

o (3 e .

P ¥ ¥ S99 om@ ¥ “wgae, Rl ol @ @ wew g
YeaT & ? indiresult.in whatsapp - 9352018749
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16 Choose the box that is similar to the box formed from the given sheet
of paper (X) : .
Dl TP’
. ® (A) ® © O
(1) (A) only (2) (A) and (C) only
Gy (A, (C)and D)only - (4 (A) (B), (C) and (D) only

o (X) & wgyd fom =79 & Tu &ttt &1 g &Y -

50 PP P

- X) (A) (B) ©) (D)

(1) W (A) | ) ¥ (A) T (C)

(3) waw (A), (©). (D) (4) &I (A), (B), (C), (D)
17 Evaluate 3+6 x (5+4) + 3 -7 using the order of operation.

(1) 13 @ 14 '

(3) 20 - @ 22

Whpmol % FW B AT T 3+6 x (S+4) 4 3-7 B AN @

1 13 ' (2) 14 _

(3) 20 4 22

18 Evaluate 150 + (6 +3 x 8) — 5 using the order of operation.

1) © 2) 6
3) 49 (4) None of these
wfFaret % F9 B SR BT 150 + (6+3 x8) — 5 HI AN Fraw
(I) 0 : 2y 6 o '
('/"/,' INDIg)EéiJLTE indir@utt.uﬁnﬁ\'/vﬁatﬂ%pﬁsszo18749
) a K ~ [Contd..
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The Managing Director entered the conference room 10 minutes before
12.30 hours for interviewing. He came 20 minutes before the chairman.
Who was 30 minutes late. At what time the interviews were schedules ?

(1) 12.50 (2) 1240

(3) 1220 | 4) 1210
WAHN I ¥ vy PRyw ¥ 1230 T ¥ 10 PR qf @R w8
¥ yaw fem | g Judm, W 30 PR R & ar, § 20 Fife wed
@A | e W WAd et a1 7

1) 1250 @) 1240

(3) 1220 (4 1210

Ram remembers that Mohan's birthday is after 19% but before 2ond
November, where as Shanta remembers that Mohan's birthday is after 20t -
but before 24th November. Which day is Mohan's birthday ?

(1) 20t November (2) 215t November

(3) 22" November ' (4) 234 November -

T B B tieT @ wm-RE 19 FeR] ¥ ¥R UK 22 TR ¥
qed ¥, wafs g @ wRer ¢ R den @ we-RE 20 TRk @ 9’
T 24 TR ¥ T ¥ | Aest & w-RT wa ¥ 7

(1) 20 st @) 21 T

() 22 TR @) 23 Tt

How many 5's are there in the following number series, which are preceeded
by 3 but not followed by 2 7 .

5243546785325735642354752358356
(1) One (2 Two
(3) Three ' (4) None of these

T & ot W gEw § 5 @ oiw feadt AR o ¥ Red v 3
WoeH A aMEET H 2 B o T B ?

.5243546785325735642354752358356

(1) @ | 2 =@ |
@3) o= 4 7 ¥ B T8
IND'RE TE 7 indiresult.in whatsapp - %ma§749
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Instruction : Read carefully and answer questions 22- 24 in the light of the
information given below :

" Following are the percentage distribution of the expenditure incurred in publishing
a book. Study carefully and answer the question based on it.

Paper cost 25%

~ Printing cost 20%

Binding Cost 20%
Promotion Cost 10%
Transportation cost 10%
Royalty 15%

Ry : IR = 7w & veuw J AR W@ 8 g | fvew ool ¥ s
FRm o @ ¥ | aF EF © IR W A % IR WOAR Re g (22-24)
7 F I T :

22

23

24

HRT B BT 25% -
méa?mazo%

e 9 @ A 20%
foamm W o= 10%
gEn W wat 10%
T 15%

If for certain quantity of books, the publisher has to pay Rs. 30,600 as
printing cost, then what will be amount of royalty to be paid for the books ?
(1) Rs. 19,450 (2) Rs. 21,200

(3} Rs. 22,950 (4) Rs. 26,150

YHITE < fpaTEl B TH www@waosaoaaﬁ%&?ﬁm—&
% B0 9 foat 9@ < @ 7

(1) 19,450 ¥9% _ (2) 21,200 ®9%

(3) 22,950 TqA (4) 26,150 3uA -

The price of the book is marked 20% above the cost price. If the marked
price of the book is Rs. 180 then what is the cost of paper used in a
single copy ?
(1) Rs. 36 (2) Rs. 37.50
(3) Rs. 42 . 4y Rs. 4425
IK® W B, TWE W 3T Ed ¥ 20% ofie siftea- o 6 ¥ 1 oR
Ues G Sifhd BT 180 T ¥, 99 YWH @ UH WA T BT
Tl @ g ? | :
(1) 36 &9 " (@) 37.50 3q¥
(3) 42 w?r @) 4425 v

indiresult.in whatsapp - 9352018749

Royalty on the book is less than the printing cost by

(1) 50% (2) 33.5%

3) 20% @) 25% -
s @l BUE UK BT A9 § YW@ UT Udwel L
(1) 50% . | (2) 33.5% |

(3)  20% @) 25%

@mmsuua s |  [Conid..
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Primary Data @lNDlRESULTE |

(1) are always more reliable than secondary data B
(2) are less reliable than secondary data
(3) depends on the care’ with which data are collected

(4) depends on the agéncy collecting data

Wi ©ie - L

(1) ﬁaﬁww@rsﬁmmﬁwfaaﬂm@?ﬁ%

2) fedtes @i ¥ 3 Ryaedy Oy ¥

(3) mwuﬁﬁwm%wwaﬂ%ﬁ%%
(4) mmmwﬁmw%wwaﬁmaﬁ%

Which one of the following is a graphical representation of data ?

. (1) Histogram . (2) Multiple Bars
" (3) Square (4) Angular Pie
Prg ¥ ¥ H9-T @, 6% W RgEg weeE E?
(1) arm fs | (2) e o
(3) =t . , (4) ®E 9B

Cumulative frequency curve is used to find

(1) Standard Deviation (2) Quartile Deviati.on

(3) Mean Deviation : (4) Mode

o SToAnal 9% @ SuErm aﬁmﬂﬂﬁ%mmﬁ%
(1) = frae @) Ggdw T

(3) e fome (4) «EE=

Histogram can be used to find )
(1) Mean (2) Median

(3) Mode (4) Geometric Mean

o R & SwEn T ow ¥ fer nowwar ¥

(1) == | @) i |

@) ' incgﬁ)esu .in Wrﬂﬁapp - 9352018749

YOUR SUCCESS PARTHNER

DIRESULTE 9 | [Contd...




indiresult.in whatsapp - 9352018749

29 Modian of the diswibution, #nDiResuLta
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x: 0-20 20—40 40-60 60—80 80—100
Fo5 12 - 15 7

is 52.80. the median class is
(1) 20-40 o (2) 60-80
(3) 40-60 - (4) 80-100

e, x: 0-20 20-40 40—60 60—-80 80-100

f.5 12 - 15 7
W i 52.80 ¥ iz ot ¥ )
(1) 20-40 (2) 60-80
(3)  40-60 @) 80-100

30 Mean deviation is least when the variable is measured from

(1) Mean () Median
(3) Mode (4) Range ‘
mwﬁwmmwﬁm%aﬁmmm;ﬁﬁ%%l
1) e R @ it
@) wmw @ few
31 Sum of deviations of a variable, measurled fromits __ is always
(1) mean, zero (2) median, zero
(3) mean, infinite (4) median, infinite
Th WX HI IEE . ® g g Ree @ dm @ ¥
indiresult.in whatsapp - 9352018749
(1) wew, g @ i, g |
. @) = st @) o, adRE
#moiResute

~02.A] 10 [Contd...



indiresult.in whatsapp - 9352018749 ' (.?/, |ND|RESULTE

32

33

34

YOUR SUCCESS PARTHMER

‘'The mean of 10 observations is 16. On checking 1t was found that 2
observations were wrongly copled as 4 and 6 in place of 8 and 7. The
correct mean is :

(1) 16 | @ 17

¢y 155 - @) 165 |

10 3t 1 W= 16 T | We T W T goN B A o 87 7 H W
w49 6T ¥ frg Rg o ¥ wew wowdoAw ¥

1 16 Q) 17 '

3) 155 @) 165

One urn contains 3 white and 2 black balls. Another urn contains § white -
and 3 black balls. If an um is chosen at random and a ball is taken from
it then chance, that it is white, is :

(1) 813 @) 49/80
(3) 3/8 @ 35
wwwﬁ3aﬁﬁaﬂ1-2mwaﬁﬂa%1@%mﬂﬁ5@ﬁaﬁt
3w 7 @ Az ¥ 1 alk ahow Rty ¥ fd o FEw @ e W

Tt o sEd ¥ U ﬁﬁwﬁma’rsﬂﬂsaﬁﬁﬁ%aﬁuﬁm%

1) 813 | @ 49/%0

@) 38 “4) 3/5

If P(A)'“ _P(B) = —, P(AUB) = % then P(A/B) is :
1 o 2

M 3 @ 3
1 1

G 7 4 12

o P(A) =+, PB) = 7, PAUB) = 5 & PAB) ¥
1 - 2

W 3 @ 3

indiresult.in whatsapp - 9352018749
1. 1 '
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35 The standard deviation of 10 observations is 4. If each observation is

divided by 2 then new standard deviation will be :

1 4 ' 2) 8

(3) 2 4) 42

10 3imf @ qFe e 4% |uﬁmwﬁ2mmﬂﬁmw%
@ @ A R g

(1) 4 - 2 8

3 2 @ 42

36 The probability that a student passes in statistics is 0.60 and that he passes
in mathematics is 0.50. Probability that the student passes only in any one
of these two subjects is :

(1) 0.50 ) 0.60
(3) 0.10 (4) 0.55

u% frendt & wifemat & 9w @ & wiem 0.60 ¥ ok sow ThE
ﬁm@%aﬁuﬁmoso%ﬁﬁwﬁ%ﬁﬁwﬁﬁﬂmw
form # wwe BN A wRma ¥

(1) 050 2) 060
(3) 0.10 4) 055

37 A prime number greater than 11 wiil never end with :

(1) 1 2y 7
3) 9 ' : @ 5
11 4 <37 og ¥ & od N P F @ - ofw w1 e ?
Mm 1 @ 7
3 9 @ 5

38 Square root of 45156.25 is :

(1) 2125 ' (2) 2185
(3) 2145 4) 2165
45156.25 =1 Tiq@ ® : indiresult.in whatsapp - 9352018749
(1) 2125 () 2185

(3) 2145 | (4) 2165

QJ!NDIRESULTE _—_ —

YOUR SUCCESS PARTHNER



indiresult.in whatsapp - 9352018749

39 A bag contains 5 Rupee, 2 Rupee and 1 Rupee coins in the ratio 5:6:7.
"If the total amount is Rupees 220, the number of 2 Rupee coins in the
bag is :

I 35 (2) 30
() 60 (4 120

wF X W 567 % aew ¥ 5 e, 2 oW w1 e & Reh W@ gu
TuR gw iyt 220 e @ @ A A 2 v ¥ Rewwt & wewm ¥

fro ofwm Reer
() x2+2450+1=0

X2 +4x-1=0

3)

ﬂANDmESULTE

YOUR! SUCCESS PARTMNER

(1) 35 (2) 30
(3) 60 @ 120
40 In an examination 40% students failed in Mathematics, 30% failed mn
English and 10% failed in both. The percentage of students who passed
in both is : '
(1 30 (2) 40
3) 20 4) 15
& T § 40% frendt 1 § % gy, 30% Sieh F % gQ A1 10%
A A e g o AN frwll § o9 @9 A faenfd @ wfew ¥
1 30 2) 40
3 20 @ 15
41 The quadratic equation with one root (\E —-2) is :
(1) x2 4250 +1=0 (2) x*-4x+1=0
() x*+4x-1=0 @ x2-2J5x-1=0

Ll (\/3—2) A, g

X2 —4x+1=0

2

@) x?2-25¢-1=0
indiresult.in whatsapp - 9352018749
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42

43

44

6’

“(3) Rs. 23t 4)

“term is @
(1) (m+n) )
3 o . @

L,
@) Fom 0)

The compound interest on a certain amount
is Rs. 331, then simple interest on the sar
and at the same rate will be :

(1) Rs. 200 | o

iy el ol W 10% affs 2x F 3 9w
é‘r?ﬁaﬁiﬁhwww%ﬁmam

(1) 200 % . (2)_
(3) 231 %. )

gy fpdr gowR S W mE 9 o g
¥ - |

(1) (m+n) | | @
@ 0 o @

The height of a right circular cylinder is

for 3 years at 10% per annum
ne amount for the same time

Rs. 300 @lNDlRESULTE

e
¥ frll wwafs = 331 %
M X W RS S B

300 %.

291 %.

It mt" term of an arithmatic-progression is n and nth term is m, then (m+n)h

(m+n-1)
(m+nt+1)

T m & ar (m+n)ei 9%

{m+n-1)

{(m+n+1)

24 cm and the radius of a

hemisphere is 4 cm. If the volume of right circular cylinder and hemisphere

~are equal, then the radius of right circular

T WegAE SO D GAE 24 F. Tan SR Y frer 4 . ¥
WEGAT O T AU B @A GHH @ A wagdg qwT b e
B |

- -g-\/i@r-ﬂ. @

2
) ¥ @

cylinder will be :

indiresult.in whatsapp - 9352018749
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If semi vertical angle of a

radius and height will be|:

J?T:Z
3) _ 1:\/5

o et dagdT s w
ST €W

)

8749
right circular cone is 30° then the ratio of its

2) 1:2 (././"
@ 2:3 /;_‘_9!!.\!!35'555591-1'@

s 300 % & v e @ G @

M V3:2 @ 1:2

3) 143 4 2:3
sin@ cos®

l1-cotf® 1-tan® equals | _

o 1 @) o

(3)  cos®+sind 4)  cos9-sinb
siné cosO s

I-cot6 1-tan®

m 1. 2 0

(3) cos®+sin® (4)  cosB-sinB

The shadow of a venicall
when the altitude of the sun

tower on level ground increases by 10 meters
changes because of change in angle of elevation

from 45° to 30° The hight of the tower is :

(1) 13.66 meters

€)

T YOad X o) AR &
IHAT BT ®H 45° F 300

(1) 13.66 X
L 3) 12 d=T

12 meters

13 meters

@
@

S WeE 10 9RX 97 Ry ¥ 9 g
N W gew W ¥ AR @ SO

2) 13 A=Y

) 1043 WX
indiresult.in whatsapp - 9352018749

10+/3 meters
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48 If xcosB+ysin@=z then (xs,i'ne_—ycosﬂ)2 equals © WIS/ versiienE
M) Pyt @ 2oy 42
(3) x2+)2 -2 @) R-y2-2?

qiE - xcosO+ysinf=z & ar (xsine—ycose)2 ERCE % :
(1) x2+32+22 . @) 2o+

3) x2+yt-2 @) x2-y2-2

49 "Learning : The treasure within" is the |title presented by :
(1) Delor's Commission |
(2) Kothari Commission
(3) DACAR Commission
(4) University Education Commission
‘wftrm eratfes ffr o fRar
(1) a8 FNIH @ Wl
(3) S@R HHN @) fasg frawa S swm

oL o

50 Which statement does not reflect the. concept of pedagogy ?
(1) Scientific knowledge of teaching and learning
(2) Science and art of teaching and Iaarnirig
(3) Science and abstractions and generalization.

(4) Endeavour of bringing pupils and teachers and technical means
together-

engmer (Qerird) @ erguroon e ¥ @ e wem ¥ wiafafea @ @
@y ?

(1) T o oftrm & dsire s
@) e o otrm @ B @ R
@) i ud gEEET & R
@ Pras-fhmdt @ e Emmﬁ B T

ot

indiresult.in-whatsapp - 9352018749
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i Which statement is not pplicable for both the Educatxonal Technology and
Instructlonal Technology ?

5

5

5

(:?/ﬂ

(1) Both are related

YOUR SUCCESS PARTNER

subjecf ‘matter. Cs:?/g INDIRESULTH

. (2) - Feedback is esseﬁ ial for both

(3) Both are using student's assessment.

(4) Both are for making teachers and learners in long time perspective,

e T T8 AW dEhe § PR ¥ ¥ W e wgie Wl

@ 7

) a’ﬁ&m TG

Y ¥

@ 3 F M g fww orasaw ¥
(@) T A v g W@ A ‘_
(4)_-"a’|=|’r‘ fram ofic Ryl & ol oftrm @ wRew ¥

2 The pioneer's of Learner-Controlled Instructions' are

(1) RF. Mager and Meccann (2) R.S. Magar and B.S. Bloom

(3) B.F. Skiner and B.

S. Bloom (4) Ned Flander and R.F. Manger

sm-FriPa SR % W €
(1) IRTEFR T JHH () oETE ¥ U@ 9uEsH

(3) duwfew @ dwmsm (4) T WS TH AYEATR

scheme was given by

3 -'Operation Black board'
(1) New Education Policy (2) National pblicy on Education
(3) Kothari Commission {(4) None of these
I FEw A § T indiresult.in whatsapp - 9352018749

(1) =3 fhen =ﬁfi—‘r R
(3) WMl ™M T
INDIRESULTE
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) & fwer Ay
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According to operant conditioning, learning

54

55

56

g OIS B SEEeT % e € ¢

57

@

(1) Stimulus - Stimulus )

nnnnnnnnnnnnnnnnnn

Response - Stimulus

(3) Stimulus - Response

(4) | Stimulus - Praétice

mw'mjh?m~maaﬂxﬁ4@ﬁ$aﬁfﬂamﬁnmw%_

(1) TS
(3) wEH-sTgfE

(2) | ergiman-3grus
(4) | FH—T=™

Which combination is important for the development of a child ?

(1) Food and Nutrition

(3) Love and Care

(2) | Heredity and Environment

{(4) | Heredity and Education

oW frem o e ¥ fFA ¥ @ - giy weem ¥ 7

(1) HeE ud qee - )
@) W @ e @

The concept of unit plan was given by
(1) 1.8, Bruner 2)
(3) T. Morrism (4)

JF. Herbart

IIMIHA T
dongma wF e

William Heard Kilpatric

(1) HTE TR @ | & Wl

(¢) . uw wEkE (@) | fafemm & fowifes

Linear Co-efficient Correlation has been given by :

(1) Charles spearman (2) | 1.F. Taylor

(3) Karl Pearson (4) | CF. IGauss

T weee % WA ¢ indiresult.in whatsapp - 9352018749
(1) wwd EEe (2) | TR

() o Rk (4 | dgw.aia

INDIRESULTE
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indire%%lt'iwgitsﬁg 1vé9i?1§§i9g587£9individua1 to do socially accepted activities ?
(1) Achievement motive (2) Aggression motive F”
(3) Power motive (4) Approval motive 4-'9 INDIRESULITE
frdt afm @ i o ¥ wigw o w 3g - S S
dmE ?
(1) Suwly W& (2) omERIST W
@) i\ = 4 P T
Ego-strength and Sociability are sign of :
(1) Instinct (2) Motivation
(3) Trait (4) Emotion
sig-9ife wd Wikl e ¥
(1) o (2) sifwron
(3) o @) &
What is not the trait of Personality ?
(1) Ability to carry on abstract thinking
(2) Ability to express
(3) Ability to observe
(4) Good looks _
whe @ RSl ¥ BE ¥ @ S-S e ¥ e w8 ¥ 2
(1) oug fasaa & awen (2) oyl @1 e
(3) FmwET W (@) gad
Which one of the following is a 'Projective test' for measuring personality?
(1) Interview (2) Word-Association Test
(3) Case Study (4) Check Lists
g T & TH gedr glew fafy R & ¥ - wewhR
1) TR i(rzwaji'r_easi%l}in W a‘tqgﬁggr - 9352018749
*(3) wfe—otemm 4) % fwe
INDIRESULITS
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The E.Q. and 1.Q. are the examples of : @!NPJ!?EW!—IE
(1) Raw scores (2) Standard scores
) (3) Derived scores - (4) Personal scores

63

64

65

Y INDIFE
#)noiresuLTE

Al . 20 [Contd...

47 T ‘R, AW § ¢
() W g9 W& (2) wME WEd
(3) T ™ e (@) =RRma y&a

A teacher should praise a student :

(1) Who appreciates him " (2) Who asks questions

(3) Who listens quietly ‘ (4) Who aiways obeys

T R @ o oE A e R SR W weh Wiy W ¥
o)) Wi SEe Wyt e ¥ (2) S W YEd ¥

@) s aifr e g @) S ga AETET w §

The Thurston's Temperamental schedule is a tool for measuring : -

(1) Intelligence (2) Learning

(3) Personality _ (4) Motivation |
qifed W Taioea fregw feh A & e ¥ qE ¥
1 = (2) e

(3) bR @) arfadom

The Branching Programmed Instruction is developed by :
(1) Charlas Pearson (2) Crowder
(3) Clark Hull o ) BF. Skimner

sl afimsfg orRom Red v fefve fen w0, 97 %
: indiresult.in whatsapp - 9352018749

1) e Sred | (2) wesN
3) T T , @) S wfet
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66 The educationist who proposed the Steps of Lesson Planning is :

-

(1) JF. Herbart ' (2) E. Simpson
(3) B.S. Bioom (4) E.B. Harlock
qs arer 9e e fan g Y g ww ¥

(1) SUwIEE () ERmme

() «Tg=m @ {dEww

67 In which year Rajasthan state textbook Board was constituted ? -

(1) 1973 (@) 1975
(3) 1977 4 1979
IR T T TAF Aved H ST 6w a8 § gon ?
(1) 1973 __ 2 1975
() 1977 | (4) 1979

68 Rajasthan secondary education board was set up on Dec. 1957 in '
(1) Ajmer (2) Jaipur
(3) Bikaner (4) Jodhpur
e Meates i 4 @ wren w9 1957 ¥ Raax W ¥ few aww
Hg e |
(1) eFmR - (2) g
G) SEET . (4) wiugy -

69 Who chaired the national steering committee who helped NCERT to
develop NCF-2005 ?

(1) Prof. Yashpal (2) Prof UR. Rao
(3) Prof Hari Gautam - | (4) Prof. Ved Prakash

T wegEat W 2005 ¥ fra gadw Ry & o dfw e

& yiiewr Wew ® s & Sud ot &
' indiresult.in whatsapp - 9352018749

(1) W F9we (2) W. AR
. (3) W sk WEw (4) W e @
INDIRESULTE
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70 The first ‘Guide Company' in India was started in ("{// JINDIRESULTE

YOUR SUCCESS PARTHNER

(1) Jaipur (2) New Delhi
(3) Jabalpur (4) Mumbai
aE B AR e wA TN §E
(1) TR @ & Rl
3) wEERE - 4) gyt
71 Gargi prize distribution ceremony is held annually on :
(1) On Children's day (2) On Basant panchami
(3) On Youth day  (4) On Women's day
T R gy st g o
() @ Rag W (2) wET YT W
@) g few w @) whw Rew ™

72 Projeét 'Grace' is financed by government of India and state government
is in the ratio of : o

(1) 60:40 @) 70:30

(3) 7520 @ 8020

Sy WS % WG EER T 0T WR N e orgu ¥ fed
gEEal WE e ¥ qE ¥

(1) 60:40 @ 7030

@) 7520 ) 8020

73  Transport voucher yojana has been implemented to provide the girl students

from : indiresult.in whatsapp - 9352018749
(1) 9t to 12t standard (2) 111 to 12 standard
(3) 10t to 12 standard @@ 8hto 12th standard
ZTdE aTeER Ao BEel @ glawed @ @ T S wal Wl ¥
(1) 9t to 12t ®X (2) 11t 10 12% wX
. (3) 1ot 1o 12th WY 4) 8% to 12th WX
(#WoIRESULTE

02_A]- 2 [Contd...



indiresult.in whatsapp - 9352018749

74

75

76

77

G

SCERT Rajasthan is established in C{/‘leDIRESULTE

(1) Udsipur @ Jaipur VOUR SUCCESS PARTNER
(3) Ajmer © (4) Bikaner

LA, e W e wel @ W § 7

(1) w=ax | . @ sy

(3) Y S @ ¥

‘Education for all' is the POA of world education forum meeting held at:

(1) Dakar (2) Paris

(3) New York . (4) New Delhi

wa fid frenr Rivafiver wre a0 il srtes dee @ oie gEeE)

¥ o Yow P ¥ QPR ww W g 7

(1) =& (@@

() @ R

Identify right combination of districts for tribal education with high
concentration of tribal population in Rajasthan
- (1) DBanswara, Bhilwara, Sirohi

(2) Sirohi, Dungarpur, Banswara |

(3) Karoli, Sawai Madhopur, Dungarpur

(4) Udaipur, Ajmer, Dungarpur

WS NEE AR W W8 9T WEE wed 9 By &0 afvete

(1) srgar, e, @) R, gy, steEar

() B, T WGP, FRE  (4) A, IO, TG

As per the suggested norms of Sarv Shiksha Abhiyan the TPR (Teacher

pupil ratio) at primary and upper primary stage is :

(1) 1:40 @) 130

()  1:10 4) 1:20

¥ Ruen afEm F Amel ¥ enur ¥ wahis ue ww yiafie WY _
werell ¥ Fw@—om U WW ¢ jndiresult.in whatsapp - 9352018749
(1) 1:40 () 1:30 -

3 110 (4) 120

INDIRESULTE 23 [Contd...
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79

80

Which one of the nodal agency for farming the curriculum and text books
for preparing elementary educations teachers in Rajasthan 7

(1) Directorate Elementary Education. Bikaner

(2) Rajasthan State Text Book Board .

(3) State Institute of Educational Research and Training

(4) Rajasthan Elementary Education Council

st R F R F SR $0 g NgEnd 9 e TR N B
e e wew @ 7

() wRhve e fRemea, @wER

(@) T Wed JEE A

@) Tou Sfuw e @ wET e

@) <owryE s e w&lsrcg

Identify the right set of self go{zeming bodies of the state ©

(1) Rajasthan Elementary Education Council, Directorate Elementary
educations. - :

(2) Rajasthan Madarsa board, jRajasthan state text book board.

(3) Rajasthan Departmental exar;nination, directorate literacy and continuing
Education. : ' ' :

(4) Rajasthan Shiksha Karmi Board, State Institute of Educational
Research, Training.

o B Rren ¥ A WMo ST w1 W wR §¢ e T
ey # wEEE e o

(1) ToRam oRtvw e uiag omfww fien Frymes

(2) T TEE @S, TR Ued TR AN

(3) ewam fowrlm oand, IeRAE W9 e JWE HISW

@) oraw e w9 9, e dfve ogdue ud wfiee afteg

From which year the state government started the teacher welfare scheme?

1) 1956 (2) 1962

(3) 1966 4 1979

mmmamwwtﬁwmmﬁn%?
indiresult.in whatsapp - 9352018749

(1) 1956 o (2) 1962

(3) 1966 ' 4) 1979

@ INDIRESULTH
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aught in Government

indiresult.in whatsapp .9352018749 C::(?INDIRESULTE |

Presently which set of Minority languages are bem
Schools of Rajasthan ?

(1) Urdu, Sindhi, Hindi, Rajasthani

(2) Sindhi, Urdu, Rajasthani, Sanskrit

(3)  Guijrati, Punjabi, Urdu, Sindhi

(4) Sindhi, Bengali, Gujarati, Urdu

TAE N TSR % TSe el ¥ owe deaw wwel % e @
EErs i S

(1)« R, &=, v

2) T, g, TeRa,

() o, S, o, fa

@) fedll, Toreed, 9, Sl

NCF-2005 proposes attributes of teachers. Combined the right sets of the
outcomes of these as per the table given below :

1 Knowledge I Use of proper instruments

2 Attitude II.  Creates varied situations in class rooms
3 Interests Il  Shows concern in child's progress

4 Skills - IV Compares the Theory

Select the right combination _

(1) 1-I0, 2-100, 3-I, 4-1V (2) 11V, 2-111, 3-I1, 4-1

(3) 2-I, 3-I, 4-11, 1-IV (4) 411, 2-100, 1-1, 3-IV

Tsdr wigEmeEl Weu-2005 Rt % gw ol @ g @ ¥ 5
% onfdm oo Frer ol & 3 ™ ¥, 7 & Bem et

1 ¥ = I &@ swwel &

2 eheam 0 @ ¥ Ry oRRefd @0 Pef
3 sifysfa M s & Wi & gee

4 i - v fierat A gees T

T AR &% TER WY Bl B WA B

(1) -, 2000 31 41V (2) 1-1V, 2111, 311, 4-1
(3) 2L 3-1, 4-I0, 1-IV (4) 41 2-100, 11, 3-1V

indiresult.in whatsapp - 9352018749
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83 Given below, except one, are laws of Heredity, Identify the one whlch is
not the law of Heredity ?

1) Law of Similarity @ Law of Variation

(3) Law of Continuation @ .Law of regressions
ﬁwmﬂgﬁ;ﬁ%ﬁaﬁﬁwﬁw%ﬁa%aﬁmﬁﬁmﬂwm
frem & %

(I)Hqﬁmwrﬁ;:tr @ P @ fam

(3) ﬁwwmﬁm @ i @ fem

84 Mirror drawing apparatus used for knowing

(1) Progress of child (2) Bilateral transfer ability

(3) Social association (4) Drawing capacity

firex g (sﬁﬁwﬁlﬂﬁﬁ)mﬁﬂﬁ@fﬁmw&lﬁﬁmmﬁ
¥ ?

(1) S6 B W W Si" ) e wAFRw A
(3) W ge1a (4) T e

85 Maze learning 'apparatus used for identifying :
(1) Nature and progress of learning (2) Finger's training
(3) Test forgertting (4) Multiple learning

W Yol & WieIH § GReTH % A 49 wgw s ¥
(1) ofrm & wgfr @ i (2) ot &1 idemr

'(3) WWﬁW (4)a§m~ﬁ
@ INDIRESULTE indiresult.in whatsapp - 9352018749
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86 The rules framed for the commencement of the right of children in the
state for free and compulsory education are titled as :

(1) Right of Children to free and compulsory Education, rules 2009.

(2) Rajasthan Right of children to free and compulsory education rules
2010. '

(3) Rajasthan Right of- children to free and compulsory education rules
- 2012,

(4) Rajasthan right to children rules to free and compuisory education
act 2009.

T ¥ Prye o e R P wr w B e & R Prr
w Juue: FE fp e sWen e @ T e

1) frger @ afEd s iyt @1 il —2009 |

(2) W Pryws @ sfad W e @ ofeR Prm -2010
(@) <R Py o sfredd ww fran fem - 2012 . |
@) e Fuged od ot ww R sfufem - 2000

87  As per the provisions of Rajasthan children right to education rules 2011.
Who'll act as Head of Council of Elementary Education ?

(1) Chair person of state commission for Human Rights

{2) Commissioner/Director, Sarv Shiksha Abhiyan

(3) State Chief Secretary

(4) Director Elementary Education

wre™ fryger @ sfed q@ fian frow 2011 % mﬂmﬁmmﬁw
ufwe & wgE s ' '

(1) "7 afmr e & oy

() ud fren oftem & Pridys | wRsR

(3) TN & ge g indiresult.in whatsapp - 9352018749

. @ oRfws e & Fdse
-~ (#NDiRESULTE
2 A
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88 Right to Minorities related to Educational institutions include all accept
one - identify :

1} Establish Educational Institutions -

® (#)INDIRESULTE
(2) Administrating educational Institution.

(3) Provide Scholarship

(4) Provide Armed Training

aeq e @ e wd 4 getug e od 8 ee-g et wr
¥

(1) e demetl @ i

(2) e el w1 mm

(3) wHgR e &I

(4) o= WREE WRH HE

89 According to the right of free and Compulsory Education for Children the
School Management Committe shall constitute an execution commitiee.
Which one is not included in this committee.

(1) One of the teachers from the school
2) BE.O. of the area
(3) Head Master of the school

(4) Elected person from local body

Frges wd ofedd I e after & omrta frene wavy wifa @
e fa s ¥ foat fearaes wifa & wewr # Foa & @ @ wfinfow
T B ?

() Feawg @1 @ Bes

(2) & @ dr3.em

@) FewmE F gETEES indiresult.in whatsapp - 9352018749
@) et Per @ g O | |

@woiresute o
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According to the Rajasthan Right of Children to free and compulsary
education rules, following informations are required to be collected for
school development plans. Identify the one which is not required to be
collected for this purpose. °

(1) Estimates for classwise enrollment e(g:?/a INDIRESULTH
(2) No. of requirement for additional teach TOuR sEceREs mRRTMER
(3) Yearwise additional financial requirement

(4) Records of Bank accounts _

T g wd stfvard e i % wEaER Renaa R g
frator 3g P gamell & wwlwm omase ¥

T ¥ e U@ g ¥ W oNmEd ¥, sEa) wedN &¢ |

(1) FAEAR THET & ATIH

() o el # eMEwEaNaR dEmn

(3) wvar afafad fodiv srasgeean

@ d% @ % ofew

The word "Competent Authority” has been defined in rule 7(6) of the R.S.R.
as . .

(i) Governor of Rajasthan
(ii} Government of Rajasthan
(iii) A Head of Department or

(iv) Any other officer who has been authorized by the. Governor as
Competent Authority.

What is the correct position ?

(1) () -and (i) (2) (i) |

(3) (@) and (iv) @) (1), (i), (i) and (v)

T WA Fram 7(6) % AgER wEE Wi @ aned

() TRRAF FH VS,

(i), TSN @R

(iti) we fawrmemsr, s

(iv) 98 W ¥ ¢ R e weRg 31wt 6 weernd @sm
mitmeTd wfe BT T ) ’

S ¥ ¥ - Rufy o ¥ 7

M 6 T () indireésjlt.i&i\svhatsapp - 9352018749

@) 0w @) @ . G), (i) T V)

INDIRESULTH
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92 On or after 1.9.2006 Fixation of Pay on promotion is done-out of the

following methods : C:"/a INDIRESULTE

uuuuuuuuuuuuuuuuuu

(i) One increment in his’her existing pay scale is added, then pay in
the promotion scale is fixed at the next stage above.

(ii) 3% of the pay drawn in the existing running pay band is added in
the pay band of promotion post. _

(iii) One increment equal to 3% of the sum of the pay in the running
pay band and the existing grade pay are computed and rounded off
to the next multiple of ten. This will be added in the existing pay,
drawn in the running pay band or in the running pay band of the
promotion post. The grade pay attached with the promotion post will
be granted in addition to aboye noted pay.

(iv) If commuted pay is less than the minimum of the running pay band,
of the promotion post, the minimum of the higher running pay band
will be granted, ' '

" Indicate which out of the above is applicable at present

(1) () and (i) (2) (i)

(3) (i) and (iv) @) () and (i)

1.9.2006 91 THeh TR TR T U HHETY &1 a0 (19ad (e wa]
fepar = % -

() FRreme o= 79 ¥ @ d0 gig & Uit o e W e e
w F JaT A9 A el WY ) Frew fem e

(i) =R A9 ¥ A WG AIF q&41 IS A9 H 3% YR I 9% @
L A9 ¥ H Sieex oq Fraaw e swem |
(i) =W 999 e wd femm e ¥ yra d@9 O F 3% & @EE Saw
qhg dTiw@ & SR R 10 % oFe o 9% werdl WAl | 5w
it bt @ = 99 9% A Wi Remw 39w ¥ Siwr SR
AULATT FH UGG Il 9% T 91 da 9% § Wied< a7 ©ied
frm s | 3E affiEa S8 HE & wEEiy 9w 1T ¥ 9

‘¥ WS A yue € Wigd Rear wmm o |

(iv) o o yeR €W 999 WieT ¥ THW 96 999 95 § Ja9 W@
A I W AT &8 @ gAad AT ¥ w9 ¥, o U fRafy
H il & AT AW U % 9% 990 ¥ @ A T daw
% B W WPd @ M 1 diesultin whatsapp - 9352018749
gw & d s Rafo-graeam gvwadfe & -

(1) s & () @ (i) © Q) STE @ (i)
*(3) TR W (i) & () (@) SudR & () T (i)
@ NDIReSULTE ¥ (Contd..

/ YOUR SUCCESS PARTHNER



indiresult.in ywhatsapp - 9352018749

93

94

95

C.;?{?

—At]un SUCCESS PARTMNER 31 [CO“tdo--

Indicate the rule pertaining to sanction of leave in R.S.R. .é

(1) Rule 9 of RSR. (2) Rule 16 of RSR(' !'.?!PJBE??U.!—IE
(3) Rule 59 of RSR (4) Rule 69 of RSR.

ARTEAN. ¥ (o Far B ) oy Wil el fam 30

(1 Fem o9 ) frm 16

@) Prm 59 ) frm 69

How much joining time is granted to an officer who is awaiting posting
orders for the last 20 days under RCS (Joining Time) Rules 1981, While
he has to join the new post after travelling 680 kms. :

(1) 10 days (2) 4 days

(3) Actual Journey period (4) No joining time
o™ R T (Frimes W) FRM, 1981 & R U sl st
T 20 R @ o weRE ameeN @ wiaen @} e ¥ @ fead R oW
B TEU WY W 6w R wats S 680 Rel. wwet T T @
HETET HEW &

(1) 10 fe=w (2) 4 =g

() iy aEN oMl Wl §Hg 0 (4) @S &Y T &1 999 e

Following categories of pension have been provided in R.C.S.

{Pension Rules) 1996 :

(1)  Superannuation Pension

(i) Retiring Pension

(iii) Compulsory Pension

(iv) Invalid Pension

(v) Compensatory pension

Which category of pension is sanctioned to a Government Servant who
has attained 60 years of age during service period.

(1) Retiring pension (2) Superannuation pensioner
(3) Compulsory pension (4) Invalid pension

e fofeer @ (Wym Brem) 1996 F Frifea Yemi @ wrawm e
T oE

() oy g9

(i) dr tafa Remftn) ¥

(iii) eTEd gt Tata dy=

(iv) sremda dyM wd

) aﬁw Y97 : indiresult.in whatsapp - 9352018749

U I HAA Bl 3a H O Bew Ot @ Yom wed & s, fiem
T A 7 T FW 60 o A oeng i weew ¥

(1) @@ Fegla dw ) o Yem
3) st dan frgfy Yo 4) orgaear Yo
INDIRESULTE
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Under which rule of R.C.S. 1958, (Classification Control and Apeal) rules
regular joint enquiry is conducted in which two officers, one Store Keeper
and one -Accountant are involved : '

(1) Rule 17 & 18 ' (2) Rule 18 @INDIRESULTE
(3) Rule 16 & 17 (4) Rule 19

o R 1 (@fiae P g ordw) P, 1958 % few frem
¥ SgER §gF emur X frafw frmia site ® w awd & fSw Q@
SRHEY TF ERATT T TH NEH il AN W™ W

(1) Frm 17 @F 18 (2) frm 18
@) Prm 16w 17 @ P 19

The Constitution of India laid down that each State Government will
constitute following funds : '

(). Consolidated Fund under article 266 (1)
(ii) Public Account Fund under article 266 (2)
(iii) Contiﬁgency Fund under article 267 (2)

Please indicate the fund out of which expenditure on pay, allowances and
other charges is incurred and debited :

(1) (i) above ) () & (iii) above

(3) (i) above | | (4) (i) (i) and (ii) above
W_éﬁmﬁmswmmﬁwﬁm%ﬁﬁmmﬁﬁﬂ?ﬁm
a/ffal @ et -

() wdfhm / e Ffa (erg. 266 (1)

(i) we war Wk (sg. 266 (2) |

(i) TV @ smtEwar Wi (a1, 267 (2)

P aw B sw FRAY ¥ @ few AR @ oo wledar § o9, W

w o FEEd o9 R e ¥ sl W (fe) B wwm ¥ :
' indiresult.in whatsapp - 9352018749

(1) sWw (i) | (2) sudw (1) & (i)
(3) STw (i) 4) s () (i) g (i)
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DIRESULTE 32 ~ [Contd...



indiresult.in whatsapp - 9352018749 S C:?/.‘ijlRESULTE

98

929

&

HIDIRESULTE

YOUR SUCCESS PARTHNER

uuuuuuuuuuuuuuuuuu

Personal Deposit Accounts (P.D.Accounts) are sanctioned to be opened by
the Government in Finance Department for autonomous and Local Bodies.
Please indicate the name of the Fund under which such PD. Accounts are
opened-credits and debits are made :

(1) Consolidated Fund ' . (2) Public Account Fund
(3) Contingency Fund (4) Local Fund

wfe. od dEn Pt % orger R e T write Fewt % s
S (WA emew) WM % ARy @R & R Remr W
AT ¥ | pO gae T U9 wfRed @ s ar vfee freitea ©
4 B-W T % o O @ ¥ ol o ¥ s o =g ey 9w
% ’

1) T B whE R @ T B W @,
() = @ IrHREEa Py @) wEm WYy

i

Under which rule of the General financial and Accounts rules, Head of
the Departments have been authorized to declare any officer, working under
him in the department as Head of Office delegating certain financial powers,
indicating duties and responsibilities by an office order in the prescribed
form :

(1) Rule 3{a) () (2) Rule 3(b)
(3) Rule 3(a) (i) and Annexure 1  (4) Rule 3(a) (i) and Rule 3(b)

T Rt o wran Tl % orgei e Rwmnens Iwd fpwer ¥ wria
Tl uw ettt &1 watva awry aftg w3 3o o fifine Rl siftee
& Ty e A e & wem ¥ ged il freiRa gew F s
YT T HE AEAEH ¢ |

(1) = 3@ ) @) ﬁm_jaa)

indiresult.in whatsapp - 9352018749
() 3@ ) w wdre-1 @) FEw3@) @) @ e s@)
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100 Standards o

nanicial propriety, with regard to the expenditure incurred
out of state funds for.any purpose including contingent expenses, have beén
laid down that officers who are authorized to incur expenditure out of state
budget are expected to exercise same vigilance which a man of ordinary
prudence exercises while incurring his own money. Same standards have
been laid down regarding office expenses/expenditure out of "other charges"
head.

Please indicate rule or rules in which above standards have been mentioned.
(1) Rule 10 Qf GF. and AR

@) rule 8 and 226 of GF. and AR.

(3) Rule 10 and Rule 223 of GF. and AR.

(4) Rule 9 and 122 of GF. and AR.

qe Rrdig wd o e § Toe ¥ E B Wi e @ A
“frdrr ol ¥ w0 TR W t 5w ofedl R ey @ =
F H oYeR Yea feY T ¥, IEd oden & W ¥ 5 9 @@ e
T Ial gdEa s e wdew uwm s ghg @ ke sl
aﬁaﬁaﬂrﬁmaﬂ%wm%aﬂhuﬁmmﬁﬁm%t
_Wﬁﬁﬂmaﬁﬁ'@ﬁﬁﬂﬁwﬁﬁﬂ.aﬂﬁﬂﬁwﬁﬁﬁﬁm
T |

(1) PrE 10

@ w8 w fem 226

() frm 10 v Frm 223

@ Fmm 9w fem 122

In which rule of GF. and A.R. "Duties and Responsibilities of controlling
officer have been laid down : ' '

(1) Rule 6 and 7 (2) Rule 27
(3) Rule 11 (4) Rule 9

¥% frg yrau ¥ Swow fewm o ¥
indiresult.in whatsapp - 9352018749

) w6 w7 @) FrEm 27
() fm @ Fam oo ¥
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102 Rule 219 read with rule 327(2) of the General financial and Account Rules
Forms/Proformas have been prescribed for the drawal of funds for office
expenses, payments to suppliers and payments to persons or group of person
undr some project, scheme or programme.

- (i) Fully Vouched Contingent bill (GA. 108)
(11) Abstract Contingent bill (GA. 109)
(iii) Detailed Contingent bill (GA. 110)

On which form a sum of Rs. 5.00 lakhs (in lump sum) can be drawn from
the Treasury for distribution to the "Fire Sufferers”.

(1) In the form mentioned as in (i) and (i) above
(2) In the form mentioned as in (i) and (i)

(3) In form (ii) above

(4) None of the above

w.fa. @ @ Fraw 219 w@ 327 (2) F our i enefere el ¥
%&W%Wm@mmﬁsuﬁwﬁﬁmﬁﬁqﬂﬁlmﬁaﬁﬁ
fed W ¥

(i) Trew wfq onwfvme =@ 4w (S 108)

(ii) i omine =m f§w (ST 109)

(iii) foga omaies @ W Gha 110)

o T & wedl o ¥ fRw wew % wewm @ w9 ¥ us ged uiw
W TUY o IR # e 7 % 9899 ¥ T BINFIR @ omela
o wm & ¥ |
W w6 G @

indiresult.in whatsapp - 9352018749
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103 Who was honoured with Rajasthan Ratpa in 2012 7 &S revreeecmerann
(1) Pandit Ravi Shanker (2) Pandit Jasraj |
(3) Pandit Ram Narain (4) Pandit V.M. Bhatt
2012 ¥ R TeRaW T ¥ wemhE fear w7
(1) dles W sfex (2)&%‘&@@
@) @ m AREm (@) tfsq fayg AT wg

104 Which is not properly matched in the following teams ?
(1) Raj Thakre - Shiv Sena
(25 Mamta Banerji - Trinamool Congress
(3) Jayalalitha - A-DMK _
(4) Navin Patnaik - Biju Janata Dal
Preg o § 2 gifw @ E 7
(1) = ey — B &
@) W S - Berw s
(3) oW — o SLEHE.
(@) - weTEe -~ 4N S W

105 For which state Parliament made a law in 2010 to create the Legislative

Council ?

(1) Andhra Pradesh (2) Tamil Nadu

(3) Madhya Pradesh {4) Kerala

2010 ¥ wug ¥ few wug ¥ fqym oiiwe +=@ @ & s 7
(1) s @)ty

G) wawe @ w

106 Who was the chairman of the Thineenfh Finance Commission ?
(1) AM. Khusro (2) C. Rangarajan
(3) Viai Kelkar 4y Vinod Rai

AEE Bra oM w1 oremm wW an ?
: indiresult,in whatsapp - 9352018749
(1) gwud gad (2) . TREA
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167 1In 2012 how many candidates of the congress party were elected to the

108

109

L

_ _
(#)NoIResULTE

Rajya Sabha from Rajasthan ? . h |
h 2 3 J

o ® » (#)INDIRESULTE
5 4 @ 5

2012 ¥ Tewa™ ¥ w9 @ & g wie ot @ aaftm e we
¥ g 7

(1) 2 @ 3

3 4 CY I

Which fundamental right has been added by the 97th Constitution
Amendment Act of 2012 ?

(1) Right to free and compulsory education for children below 14 years
of age

(2) Right to information

(3) Right to form and operate cooperative societies

(4) Right to recall elected representatives. |

2012 % o7 Wi deie o & Ao A oftwR e ¥
(1) 148 aw & v W@ abee 7 frge fan o efer

2) T W SR

(3) WEH dEWRt % Ted ¥ YOwH @ AHSR
(4) Tattm shmElel % yaadT &1 e

Which musician was honoured with Bharat Ratna ?
(1) Naushad Ali (2) Bade Gulam Ali
(3) Bismillah Khan (4) Fahimuddin Dagar

. A _m T W forem in |re?sult.in whatsapp - 9352018749
(1) <hsmE e 2) T TEM o
3) ffewr @i | 4) wEER =R
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The Vidhan Sabha of Rajasthan has passed a resolutlon to demand creation
of Legislature council. In case it is done by a law of Parliament, then how
many members it may consist of at the most ?

(1) 64 (2) 65
3) 66 | @ 67

TERaM @Y fau T Y U e e ¥ T A fram ufoe @ wmom
@0 W B T lﬁm%wﬁwﬁwﬁw%ﬁwﬁ
aftee ¥ orfts Ppas 9@ & waa € 7

(1) 64 | @) 65

G) 66 | . @ 67

Pravasi Bharatiya Divas was celebrated in Jaipur in January 2012. What
was its serial number ?

(1) Eighth (2) Ninth
(3) Tenth (4) Eleventh

O 2012 § Wl § yEw IRdw a7 T SgEn g8 E#
dEm & 7

(1) st ' (2) i

3) Tmar (4) T Eai

Who is India's representative at the United Nations ?
(1) Hardeep Singh Puri (2) Nirupma Rao
(3) Shiv Shanker Menon (4) Ranjan Matthai

Yo U WY H ARG B WM BT % 7
indiresult.in whatsapp - 9352018749
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(3) BE st T (4) 99 TuR
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113 Palestine has the status of permanent observer in the United Nations, so
it can be a member of its any specialized agency. Of which such body
it got membership in 2011 ?

(1) World Trade Organization

(2) International Labour Organization

(3) World Health Organization

{4) UNESCO - _ ,

e ® dgaa g § Wi wddem & oo W §, o a8 Su% e
frsrwsiiga Frem =1 e & waa ¥ 12011 % & form Preerr o e
1 -

(1) fTavg =R d@Tew

() orrisda sm e

(3) Taw wrem 9T
4) TR @IE Ug @ i, It 9 g o)

114 At which place the sixteenth conference of the SAARC was held in 2010 ?

(1) Kathmandu (Nepal) (2) Thimpu (Bhutan)
(3) -Colombo (Sri Lanka) (4) Male (Maldives)
2010 ¥ w® &G W GOwAl WHET FAT ?

(1) @y (uw) - (2) oy ()
(3) @ (i) (4) A (ArEr)

115 How many are the members of the United Naiions at present ?
1y 191 @ 192
(3) 193 : @ 194
T 9IY 9Yed T u9 § Praw wewr oo ¥ 7

(1) 191 2) 192
. 3) 193 4 194
/ \ indiresult.in whatsapp - 9352018749
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Which country has adopted the strtegy of 'strings of pearls' to encircle
India 7

(1) USA "~ (2) Russian Federation

(3) China (4) Japan

frg 3w ¥ WRT A W HTT ¥ WRREN B AR BT AT
3 '

(1) wga Tou oraf @ & |

@) a9 4) S

In which country the wave of Arab spring created conditions of civil war
which resulted in the killing of its President ?

(1) Tunisid (2) FEgypt

(3) Libya ‘ _ {(4) Yemen

frg 291 & o <& @ WEY ¥ e gE @ fufy Y@ A Rl wel &
At # e g7 :

(1) zg,:ﬁfsm i 2) f=x

Gy @ @ am

Who presided the XV Conference of the non-aligned nations heid at
Sharm-el-Sheikh in 2009 ? :

(1) Fidel Castro " (2) Hosni Mubarak

(3) Nelson Mandela (4) Bashar-al-Asad

2009 % sif-oi-9r@ ¥ B A UmEd Te-Prdw WA B onme Pee
7 .

(1) e @ . (2) BEN TEE

(3) , TeEe HIE (4) IR
119 Who is the Prime Minister of China ?

(1) Hu lJintao (2) Le Peng

(3) Jen Ziabao , (4) Bo-Xilai

A B g B ¥ ? indiresult.in whatsapp - 9352018749
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RIBIRESULTE 4 (Contdl-

YOUR SUCCESS PARTHMER



L
bl
| - | Y,
indiresult.in whatsapp - 9352018749 @ !NPSIBE§HL‘IE
126 Which organ_of the United Nations elected Dalveer Bhandari of India as
a judge of US International Court of Justice in 2012 ?
(1)  Security Council T (2) General Assembly

(3) Ecorio_mic and Social Council (4) Trusteeship Council

UYL ¥ T o WRE % R SSH @ 2012 ¥ sraida S
B TA GAEr 7

(1) g e | (2) wE™W
(3) oiiwm T wafve oiteg (4) =m aftwe

121 In which country National League for Democracy achieved overwhelming
majority in the parliamentary elections held in 2012 ?

(1) Indonesia - (2) Myanmar

(3) Sn Lanka (4) Malaysia

fpg dm & 2012ﬁ%amaaﬁnm%=ﬁ%€r%wau§mhﬁ&mnﬁra§na
T Rear 7

(1) sy S (2) mmER

(3) i @) =R

122 Which new point of irritation has found its place in the diplomacy of
China ? '

(1) Suppression of Uighurs (Muslims) in Suikiang
(2) Support to North Korea's nuclear programmes

(3) Construction or renovation of ports in Pakistan, Sri Lanka and
Bangladesh

(4) Exclusive control over South China Sea

T Ao Fen N fosfefe & few o fag @ o fem t 2
(1) fawgm § gird (Qaemey) & T8+

() w8 Hf@ F TEY] FEwE B wHdA
(3)wmﬁmamaﬁ31ﬁawnéwﬁﬁwmengﬁaﬁm

@) ﬁéﬂvﬁﬁwwwm@wa&m'{
indiresult.in whatsapp - 9352018749
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123 Who has been deputed by the United Nation's to prevent bloodshed and
resolve the crisis in Syria ? :

(1) Kofi Annan (2) Ban-ki Moon

(3) Hillary Clinton - (4) Selva Kiir

S ¥ @ ABY T gHE B G B ¥ wga wg ¥ fed
qo ¥ ? -
(1) Hw FEE @) - W

) Rad fries ' (4) qFH B

124 Which great leader of Pakistan was held guilty of the contempt of court
by the Supreme Court that sentenced him till the rising of the court ?

(1) Benazir Bhutto (2) Nawaz Sharif
(3) Asaf Ali Zardari (4) Yusuf Raza Geelani

W%W%Waﬁaﬁaw%wﬁqﬁ%ﬁ%ﬁ
omdg ¥ AN T S % Io7 dw @ orty @ ¥a W owem & 7

(1) FER 9= @) = 0%
(3) oEw e WA (4) IgE TN SHEE

125 Which Prime Minister inaugurated India’s Look East Policy' ?

(1) P.V. Narsimha Rao (2) H.D. Deve Gowda

(3) Indra Kumar Gujral (4) A.B. Vajpayee

fpg wuE wE Y wd @ qd W iR @y Wy w ogew fw ?
(1) W& whHE W@ (2) TISHIF-ST

(3) THFAR e ' (4) orew faerdl s

126 Which country had its partition in 2011 ?

(1) Congo (2) Czechoslovakia
(3) Sudan (4) West Sahara
2011 & fo5@ %91 @1 R FST ? jndiresult.in whatsapp - 9352018749
(1) @ (2) IR |
. ) T @) el FEw
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Note : Language Ability test for Hindi.
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127 Prffes o & & fw @ ¥ Wiy ot wmw AW ¥ 7
() FAET-m19 : 2) dYuad
(3) T 4y ~retenen

128 Prafefa sf & S v @ s HF @M ¥ 7
(1) e - (2) dfwss
(3) =l (4 7

129 frafafas s=f & fow o & PR Sumi a &
(1) P 2 Rrer
(3) w=um @)

130 ‘gRyEwr s R s ¥ - |
(1) =@ @ (2) omaE @
(3) vyER W @) gOFw H

131 % ‘TRw & fg #F-w = wgw A ¥ 2
1) i (2) www
(3) W@ @) W

132 ‘wEl eRdt-ommy e Rerl wsd ¥ o fw w os=m ¥ -
(1) waa wR_aT (2) =T
(3) fufas (4) WK

indiresult.in whatsapp - 9352018749
133 & o ®W ¥ T few geEY o wE da@r ¥ 7

(1) gwres (2) sEEA
(3) WA HE @ & oy &
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134 5 R A wEam gW e @ ¥ 7

135

EEEEEEEEEEEEEEEEE R

(1) | (2) tfed
(3) T (@) =T
ks e % R ol a1 A f A b 7

(1) PUBLIC OPINION
(2) PUBLIC AGENDA

(3) PUBLIC SERVANT

~ (4) PUBLIC NOTIFICATION

136

'CEASE FIRE' % fag =t s/ & -
(1) el @ 2) 3= fam

3) TER @) FEeE

137 T @-|1 9 JE § 7

138

You

(1) 3 T F oFw oFrgE T W W ¥
() 3@ TS F el omTgw o @ ¥

() @ S H oM STgE MM W W ¥

(4) T WU A P SrEET A F WF ¥

This is to inform that &1 &8 =T &M -
(1) °g vt Rem wwn ¥

@) I giw fem s ¥

(3) 9% TEEN AW R

indiresult.in whatsapp - 9352018749
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Note : Identify the tense in the sentences given below. renm RReeERE e
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139 I have lived twenty years in Lucknow.
(1) Present Simple (2) Present Perfect
(3) Past Perfect | (4) Past Simple

140 He is writing a letter,
(1) Present Continuous (2) Present Simple
. (3) Present Perfect (4) Past Simple

141 The roses in your garden are beautiful.
(1) Past Simple (2) Past Perfect -
(3) Present Perfect | (4) Present Simple

Note : Mark the Passive Voice which is correct.

142 The Principal read -the= report.
(1) Principal is reading the report.
(2) The report was had been read by the Principal.
(3) The report was read by the Principal. '
(4) The Principal will not read the report.

Note : Fill in the blanks with Determiners.

143 persbns were hurt in the accident.
(1) Any (2) That
(3) Some ' (4) His
144 1 would like to have more bananas.
(1) few (2) some
(3) this (4) any
145 Lion is ___ dangerous animal. indiresult.in whatsapp - 9352018749
(1} the (2) some .
o 3) few ‘ 4) a

C’gmmﬁ@uu@ . cote.




Note : Fill in the blanks with the Prepesitions given below __

indiresult.in whatsapp.- 9352018749
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146 He flew kites ___ the rooftop. YOUR SUCCESS PARTNER
1 a @) with
(3) from (4) in
147 1 shall doit  pleasure.
(1) for (2) from
(3) at (4) with

Note : Give the Synonyms of the words given below.

148 Caution
(1) Needy

(3) Neglect

149 Delight
(1) Pleasure

(3) Respect

(2) Carefulness

(49) Danger

(2) Variation

(4) Distress

Note : Give the Antonym of the word given below.

150 Affection
(1) Aversion

(3) Fondness

6INDIRESULTE

YOUR SUCCESS PARTHNER

(2) Attachment

(4) Agreement
indiresult.in whatsapp - 9352018749
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